4 A 43

HOH || smEaaiesE| H M B A R & #H
4ATH (KRR RAE L 10,000
4161 |Joiksik B3RED R 10,000
AR1TH |[REZ B FENZHEEE 10,000

R4 | T 70,000 | 4H19H |mHi#ams WA AR A B S®E) ERIERFE 10,000
4H228 [T HPIOTHEE R FERFHEEFE 10,000
4H22 R |H#EZBRURE SHES R 10,000
4H29R ik ESREER 10,000
4ATH MTRFEX K RSHRE 5,000
AH1TH |HiEb#%ESRRE 10,000
4H18H |KRE&SHhE 3,000
AH19R |REREEHBRHRS 3,000
AR 19H [T LMl E e 2,000
AH190 [ LEFHEMEEFE RS 5,000

= % | 13| 71,000 |4H20H |Mifalrin i e sk n30)E A a el 10,000
4H200 |RITTHES - HBESEES 8,000
472417 PRAFENSEE B XK@ E ks 3,000
4268 [KFENS/NIHIK B E 3,000
4H2TH |THBEZB S, FRES - BSEEAS 6,000
AH28H |TivHEP; R 2 8,000
4291 [ RREZTEHARES 5,000

& i 20 141,000 141,000




o
Jo
&

HOH || smEaaiesE| H M B A R & #H
5HIR |oXE ZRESE 10,000
R4 | 3 30,000 | 5H16H [REEZE FR(FEZEEEE 10,000
5HITH |RKE FERZEETE 10,000
5H8H |MitriErIaie 3,000
5HI9H [Sd3tsbW\ESNEER 5,000
5HI11H |[TTROA AR 5,000
5H15H |hrg La@mEwiRe 3,000
S5HI18H |[aMtXi@e e N EEEASER LIRS 5,000
5H23H |ARHLIX A8 e 3,000
D T 5H24H BESFESTE e 5,000
5H25H | B T2 s ki s 2,000
bH25H |MRAEREZREEEHES S CHELHEEELBHE 5,000
5H25H At X A2 m L2 Hs/ N EEASSEERS 5,000
5H26H |ERHMXXESBHRS 5,000
5H2TH | R EOAES 8,000
5H28H |IREIES) s A b s M FE A B Z B i 4,000
5H31H | RMAREBEEHESRS 3,000
B4 | 1 10000 [ 5H26H |HARNM LKA = E8H 2 ERESEB4| 10,000
Zof | 1 7500 S5H1HE [4H 7,500

& | 19 108,500 108,500




6 A 4
HOA | ¥ |sERaier| HOH - B 4 & #H
611 0 |RAZ B FER (F)E) ZREEE 10,000
RRA |3 30,000 6251 |HNRHE HEEE 10,000
6130 1 [Ju X R 3REA K 10,000
6 72 H |BxA /N E SR RAcHs 3,000
675 H |Gl iz e/ e Bl AL B XRE 5,000
s @ ’ 29 000 618 H |#E A A iz GRELE) 5,000
6116 H |7 BLER/EREZFEM A S 1 Rk 8,000
6717 R | (+h) /NEEBOLH B ES GRELR) 3,000
6130 H |/ hEEHEFH SRS GRES) 5,000
v | o 10,000 69 14 H | 55 52[RIR S R R R 22 B 4 5,000
6116 B |JFUKIEES 1R201 2 EOF-Fn RATH % Bh 4 5,000
O |1 4,500 615 H |4 IR 4,500
& F 12 73,500 73,500




TR &
WOH | [emnenen| A OH - R 2 & 7
PR |1 10,000 THAR|TX R ZREER 10,000
TH21 B |HAR =V R HIEHEIHE S 5,000
& ® | 2 10,000
TH25 R (A XK AR e i e 5,000
)4 1 5,000 TH4 B | Betg6 78 UK BRI R R 2 (SIS An g IR R 38) 5,000
& B 4 25,000 25,000




8 A &
H B | M| smEasiaes| H H * H " 4 4 KA
SHISH|MiEaikE FIEORIEFHEER 10,000
SHISH |XWIEHEBE FIEORNZEFRER 10,000
R4 | 4 40,000
SHISH | itk E ZEESE 10,000
SH2OH|MHEBEZEE RIEORZEFRER 10,000
- 1 7,000 SH22H |k BEIARGES Rl BIC i 72283 7,000
SHIH [ lediat ik RN K I R RS R Rus &84 5,000
®e | 2 25,000
8 H 14 F | 459418 4 [F & S5 - B RIS TFHE HI SR B 4 (i) 20,000
& 8 7 72,000 72,000




9 A 4

HOH || sERaiem| HOH - &

RRe | 1 10,000 9H 1A | CXEZHEE L 10,000
9H 1 B {07 BB W I A B PE T FT (KD 70) 35 T 2 10,000

P 30500 9710 B |/hE EMEBR AT eV RIS A SRR E & 2,500
9A 29 B | PKIRZE AR — 2 — RGRNL3 SRR i S 3 3,000
9H 30 H |VHBGAR L 7 BER RS R T & 15,000

ZofM |1 7,500 615 H [AfifR 7,500

=l 6 48,000 48,000




AN

73

HOH || sERaiem| HOH - B &
10H6H |tiXE ZREFE 10,000
10H6H |HNEHHE ZREEE 10,000
10H9H |tXE ZREEE 10,000

RRe | T 80,000 |10HI19H |HiREHE FRESFE 10,000
10H21 B |HR¥(EER FHEFE- RN 20,000
10H 24 H | AiAm#HSHE NEREEE 10,000
10291 |#rH TS E NEREEE 10,000

o ) 000 10H 5 A |/hEEfif i aine GRR L) 2,000
10 A 14 B | RARBRIIRHE AR 6,000

=l 9 88,000 88,000




AN

73

HOH || sERaiem| HOH G- s B 5 &
1LH3A | X E ZHEER 10,000
ILH6H |\ EHEEZ R RZREEE 10,000
LA A | ARTESHEE NEREEE 10,000
1IH12H |t SEESE 10,000
LA LT ARSI E NSRS 10,000

R4 | 10 | 110,000
LLATR|eREEER SHET R ERN 10,000
1LA21 A | eRAERE ZHEER 10,000
1TA21 A [ouigam e sHEEE 10,000
11H260 [RAZE REZHEEE 10,000
11H26 0 |Magak e sHEE R LN 20,000

e 1 9,000 11 H 258 [iyEBh % B2 9,000

Bihae | 1 20000 11H 15 B | R 2R R 2y 20,000

=l 12 | 139,000 139,000




AN

73

HOH || sERaiem| HOH - B &
12H8A | tX&E ZHEEE 10,000

RRe | 3 30,000 | 12H23H [uiEsEHER HEEE 10,000
12H 250 |5, Fi RS FREEE 10,000
12A7H [aMtX @R e  EETEa 2 ERXMERS 5,000
127138 fESEabE N T B B S 5,000

o ) 41,000 127 18 [ | W X 52 72 4 W/ N3 R A 42 S BF LM B 4 5,000
12A22 A [/MNIHIX B A - HEZR B aiB ik s 3,000
12723 A | gt A E S 10,000
12 A 27 B |IHAE7KE A R E B 2 6,000

g4 | 1 10,000 | 12A25H | B AN AR HEEER S B4 10,000
12H 18 B [HUR ER R PRI E R £ 2 — 3R L pEA 2,880

Z DA 3 12,015 12 A 21 B [FRE RIS BRI IR F e 4,200
124208 |4 #I{ 4,935

=l 13 86,015 86,015




1 A &

HOA | ¥ |sERadem| HOH B N & #H
IH6R |[E¥(ER RKEFEEFE 10,000
LALA|[ERAEZRE HEEE 10,000

e | 6 50,000 LH16H|XE REBEEFE 10,000
LA21B e AT DRI 10,000
1H22H [oktts SRZEETE 10,000
LA2TH |t EBAZSEE e SRIHEEE 10,000
LA 5 A [JAZEE B 5,000
1A 8 H [fREAEE e T 20,000
L9 R | wl g 2,000
LA9R |V 7 - rayr—t 2 e 1,500
LA 10H [B A OFIRSOHFED LW 10,000
LA1LH |[H#E AT 7 #HE LR B3I 2,000
IERRREN B RSN (e Soana e PR 5,000
LA 128 |fiHEBh et 2R 6,000
116 B | 32 e & Bk gl 2 i & 5,000
LA 18 B | iR F etk i = 500

ey e 21 | 113,000 LA19H | ESHES 5,000
LA21 B | Lt —E AR SRR 2,000
LA 23 B | & IRES O E @A S FTES 3,000
LH24 8 | 5,000
LA248 |[H# N7 #BE DTS 3,000
1A 251 |38 B H K b 3 i 10,000
1LA26H | H RSN 28 HEOEN 7,000
126 H |[EBix B2 (=) 10,000
126 B |PTEKIKRESFTFEES 5,000
LA 27 B (PRI A2 /N6 T SRUHT R Rk &= 3,000
130 B | £ B T EEMMEK RS E e = 3,000
1H 10 B |MER w2 —Hia g s i i 2 ) R HpER 4,000

Zoft |3 8,000 LH 18 B |HE# 24—t 7 — R T EE R E R T HpENR 2,000
17 29 H | BRBE A& Hb & fi = 256 A b sz i g 5= L EAR 2,000

& & | 30 | 181,000 181,000




2 A %

HOA | ¥ |sERadem| HOH - B 4 & #
220 |t e SREER 10,000
2HIGA | CHBER HEEE 10,000

BRI | 4 40,000
2H200 |HRAZER NEREEE 10,000
2H21R|HNRHE HEEE 10,000

RES | 1 10000 27200 | E KR 2% 10,000
2A 1B BB EA G EG= 5,000
2A3H | mm e/ N EETEAESER B IGTITEa 3,000
2A3H |[/NEERAR—VHEEE B SHFES 5,000
2H5H [EEZALEOBRE 5,000
2HEH |XEREHELOBHB AR 5,000
27 8 B iR BEf A & Bl = 4,000

ool 13 70,000 2HIA (B Ha =T (HTRRR S 5,000
2H 10 eI =R R EOE S 10,000
2 13 1 | i) 5 7 Bk & 78 B 5,000
9H14H gg%&:gﬁéfﬁmﬂ/\ ANEHEEE 10,000
2H 141 [/NINE NS B RR = 4,000
2H20R /hEEMEE=LRRE 4,000
2H 220 [RERE THHEHAHES 5,000

Zoft | 1 4,000 222 A (Bl 22 RFPRAL AR 4,000

& F 19 | 124,000 124,000




73
s | wmaaitem| H H G- s B 5 & #
SALR|HR¥(ELZER FREEE 10,000
SHIGH|MNEHE FREEE 10,000
5 50,000 SHITRH(HREZER: SHERE 10,000
3H25H|NEHE FREEE 10,000
3ABIA[REZLZE HERE 10,000
3A1H [H BARYEE B & 5,000
3H 26 H [Tk E AR E G2 GREL) 6,000
= 4 23,000
3H 29 H | & AT 10 B i e SRR 2,000
3A3LA | O E = 10,000
1 20000 37 18 H |4585/mae anistbi i S A BFBR K2 I B 4 (3 20,000
1 7,500 3A8H AR 7,500
11 | 100,500 100,500




